Honors GSE Algebra |l
Practice — Quadratic Functions -

Jart I: Factor the following expressions.

1, 7x*=31x-20 2. 28k?—63

4. 2b% +17bc+ 21c? 5. 121x% —49y?

Part |I: Solve the following quadratics by factoring.
1. x2=2x+1=0 2. 10m*—-35=65n

4. 7a2+32=7-40a 5. 3x(x—1) =x*

Part 1lI; Solve the following quadratics by square-roots.

1. 5x2+16=—-44 2. 2(n—-2)-4=28

Part IV: Solve the following guadratics by quadratic formula.
1. 2nf-n—4=2 2. 8n?—-4n=18

4. 10x2+9=x 5 3a’2=6a-—3
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Part V: Solve the following quadratics by completing the square.

1. 2n2—n—4=2 2. 8nf—4n=18

Part VI: Solve the following quadratic inequélities.
1. x2+4x+3<0 2. 5x2+10=27x

4 10x%—4>x 5. 9x? +31x < —12

Name

. 7x? —45x — 28

72x% + 36x% — 32x — 16

. 3x2—-8x =16

42x% —69x +20=7x* -8

. =3(x—3)2 =24

. b2—4bh—14=-2

Ba2+7a=a—5

 8c?+7a=a~-5

C9x*4+6x+1<0

4x2 +4x+1>0

Part Vil: Graph the following quadratic equations and find the characteristics.

(Vertex, Axis of Symmetry, Domain, Range, Extrema, intervals of Increase/Decrease, Roots, Y-Intercept, and End

Behavior)

1. f(x)=x*+4x+3 2. glx)=-2(x+3)2+10 3. h(x)=-2x"+11x +21
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